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(1) Sr T=PCO

o Sr 2 4E+14[Bq] G6 G6 G4
O G6 G6
o G4 C C E

2
S L -

16 700 2012/4
B 5 1,300 2012/8
8 100 2012/5
18 8,800 5.2E+13 23.8% 2013/5 2017/2 2017/2
20 8,600 7.4E+13 29.1% 2013/5 2017/3 2017/3
5 3,800 2.3E+12 1.0% 2013/5 2017/6 2017/4
8 8,100 8.9E+12 3.8% 2013/5 2017/7 2017/5
(ACDE ) 44 44,000 1.8E+13 7.5% 2012/8 2017/11 2017/7
17 13,500 8.3E+13 34.8% 2013/6 2018/9 2018/3
5 3,200 7.8E+07 0.0% 2011/8 2018/11 2018/7
7 6,300 1.5E+08 0.0% 2011/11 2018/11 2018/7
6 6,400 2.6E+07 0.0% 2013/9 2019/1 2018/8
17 18,100 2.3E+07 0.0% 2013/12 2019/1 2018/8
1 Sro0 RO 107 10%Bg/L ,Sr 104 108Bg/L ,RO ND 10'Bg/L ALPS ND 10°Bg/L
2 Cs134,Cs137,Sr90

3 2017/1/5



(2) T=PCO

Sr G6 G6 G4
G6 G6
G4

ALPS-1 ,ALPS-3 G4

ALPS-2 ALPS-2 G4

Sr

G4 - - G4

x

ALPS-1
250m3/ %3

ALPS-2
500m3/ x1

ALPS-3
250m3/ %3

Sr
300m3/ x2

Sr
480m3/ x4




(3) ALPS-1,3 T=PCO
ALPS-1  ALPS-3 G4
ALPS-1,3
3,000m3/
3
1 250m3/ 0.6

ALPS

250m3/ x0.6 150m3/

10



(3) ALPS-2 T=PCO
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T=PCO

ALPS

G4

G4

2018 9

G4

1E+16

G6

1E+15

1E+14

[bg]

1E+13

1E+12

ALPS

G4

1E+11

1E+10

1E+09

ALPS

G4

—_— G4

1E+08

1E+07

/6T0C
£/610¢
¢/610¢
1/610¢
¢1/810¢
11/810¢
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